
Exercice : 

Trouve le résultat des calculs : 

 

718 – 1 = …  778 – 10 = … 

798 – 1 = …  444 – 10 = … 

485 – 1 = …  493 – 10 = … 

288 – 1 = …  852 – 10 = … 

707 – 2 = …  708 – 10 = … 

245 – 2 = …  505 – 10 = … 

744 – 2 = …  998 – 20 = … 

809 – 5 = …  700 – 20 = … 

 

Et vérifie si tu as juste avec la calculatrice !  

 

Exercice : 

Trouve le résultat des calculs : 

 

718 – 1 = …  778 – 10 = … 

798 – 1 = …  444 – 10 = … 

485 – 1 = …  493 – 10 = … 

288 – 1 = …  852 – 10 = … 

707 – 2 = …  708 – 10 = … 

245 – 2 = …  505 – 10 = … 

744 – 2 = …  998 – 20 = … 

809 – 5 = …  700 – 20 = … 

 

Et vérifie si tu as juste avec la calculatrice !  


